Day 152 — First Pass Alignment Update

* With the ~“600K events | got from Long, | ran the

alignment code and got precise estimates (see
slide-2)

* Produced the “corrected” geometry and re-run the
full BFC with updated geometry

— about 50K event so far



FIRST PASS ESTIMATED Corrections (angles [only] need a minus sign)

SECTOR 4

|dX mkm  |dY mkm |dZ mkm |alpha mrad |beta mrad |[gamma mrad |Comment

| -100 | 300 | 2900 | O | O. | -0 | Average for PXL sector 4 Ladder 1
| -20 | 150 |2970 | O | O. | O | Average for PXL sector 4 Ladder 2
| -100 | 350 |2700 | 0 | O. | -0 | Average for PXL sector 4 Ladder
3

| -200 | +400 | 3000 | 0 | O | O | Average for PXL Ladder 4
SECTOR 7

Il

1500 | 2100 | 3000 |-10 | 10 [l 80 || Ladder1

|2350 | 1150 2900 | -15 | 10 | 80 | Average for PXL sector 7 Ladder 2
12330 11800 12440 | -15 | 20 |

\ 80 / | Average for PXL Ladder 3

| 2230 | 2710 | 2570 | -10. | 20 W | Average for PXL Ladder 4



Sector 7 ladder 1 (inner)
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Sector 7 ladder 2 (outer)
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Sector 1 ladder 1 (inner) GLOBAL after BFC rerun (50K)
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Sector 1 ladder 1 (inner) GLOBAL after BFC rerun
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Sector 1 ladder 1 (inner) GLOBAL after BFC rerun

o l; AR PEL Lakder - 7
0 dX vs -z+jpx*(vx*z-vz*x)=> beta for layer 1 ladder 07 [Entries 63303
- Meanx 1961
- : Meany -0.1%26
03 T“'+ o RMS x 5282
= RMSy  0.14%
02 Sl R
0.1 T RS e el
= 10
[|] RROOOE SO .. — e e o
_0_1 :._ ............. , ....... , C“ckthe wme
02 +{lto turn the " hid
03 E_ ........ leave" mode
04 i:_ ..............................
= - : _ 1
-0'1515 -10 -5 0 5 10 15
.IDay1524Fulloutput.root
05 dY vs -xHy*(-vx*y+vy*x)=> gamma for layer 1 ladder 07
f_.......;...........;...........',..........;...........;..........;........... ........... Entries 69303
C Mean x  -2.132 ]02
:_ ........................................................................................ Mean y -0.2136|
= RMS x
R o e 10
E - I - I L1l i L1l 1

2 15 1 0.5 0 05

.IDay1524Fulloutput.root

dX vs -zHjx*(vx*z-vz*x)=> beta for layer 1 ladder 07

0.3

0.2

0.1

0.1

0.2

lllllllllIllllllllllllllllllllllll

b PXL Ladder -
1Entries 28862
Mean x 2257
—Mean y 0.002332

RMS x 5.163
1RMSy  0.1658

i R TRTE TP :
T .

) T | S
DA o [ e e s R
- -1.65+  0.06(mrap) prob=0.004 :
o-ﬂl_ l 1 1 I 1 1 1 1 I 1 1 1 1 I 1
-10 -5 0 5 10 15
..IDay152PassBFC-output.root
E ==HYadg PXL Ladder -7
dY vs -x+jy*(-vx*y+vy*x)=> gamma for layer 1 ladder 07 |ENtries 16670
Mean x -2.021
0.2.: . ~| Mean y0.000884
n RMSx  0.7381
- = |rMsy 0.1364
0.1__. .....................
- I
0 — e r it W LT e e ey~ 10
_0.1 .....
02 R S,
0.3 ........
B SN IS S R T R 1
4 35 3 2.5 -2 -1.5 -1 05 0
..IDay152PassBFC-output.root



